12 sec 1 Workgheet - Arrhentos 57 vahonss .

5) dn [} sx/o‘%-)_ i

-5 i o i _L.
3y 10" "s~/ 23143 Imal™! K 298).. 328K
2,769 R . £ &
3, 06916 7~ 3.314S Jmel” K Ea= 1.021IX 723 jfus|

=//,oxzos T/mel|

{0)~ An(3) = Ea T
B35 Imal T R F00K 30k

/029 L B — Ea=8Socoi1xi0v
07 Sxlo~IK $.314 Sgmol™ K~ '
/.0 XO( K Cea(____ 3,50)(/64&7—/”“1”
/) AnK = —100X105 5 pp)~! % /3)< + Ln. (6.00%15"nap) L5
-1 14 =1 67 .
8.3148 I wel 1K unf:v':s for
Ay K mateh

= <, 263 X 10" KK » 1.4 8L 107 k" + dhH

1)

//is"/

%o ,.oz?X/oJ'-_—[). oax;o-"mol"sec"/




